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8:00~8:15 S| (b=30—=MN—=Fr/N\DXEILE)
8:15~8:30 BEERE - mxiReia (b—=0—="N—=Fr/N\DREILEB)
8:30~8:45 B=T\ (b=30—=N—Fr/N\DXEILE)
L—RES| &5z | XD &8 L2 i ik BB EDD
1 930 | thE4E | WK4 RS 500m
2 935 | o4t | K-1 R 148 500m | Af{i~2f+3MBT REEA  IURKIS
S 940 | o4t | K-1 T2 248 500m | AfI~2f7+3fIBT REEAN  IUTER
4 945 | oAt | K-1 R 34 500m | Afi~2f+3MBT RBEA  IURKIS
5 950 | BR4E K-1 R 148 500m | AfI~2f+3MBT WA MUTRERE
6 955 | BR4E K-1 TR 248 500m | AfI~2f+3MBT SRESA IR
7 1000 | BR4E K-1 R 348 500m | AfI~2f+3MBT WA MUTRERE
8 1005 | $%4% | C-1 R 148 500m | Af{I~3M+4fIBT REEA  UIRKIS
9 1010 | o4 | C-1 T2 248 500m | AfI~3f+4RIBT REEAN  IUTERE
10 1015 | BR4E C-1 T 148 500m | AfI~3f+4RIBT SRESA IR
11 1020 | B&4%E | C-1 = 248 500m | AfI~3f+4MIBT SREEAN UTER
12 1025 | %4 | WK-1 iR 148 500m | Afi~2f+3MBT REEA  IUIRKIS
13 1030 | %4 | WK-1 iz 248 500m | AfI~2f+3f[IBT SREEAN IUTER
14 1035 | %4 | WK-1 iR 3148 500m | Afi~2f+3[BT REEA  IURKIS
185 1040 | BRE | WK-1 = 148 500m | AfI~2f+3fMIBT REEA  UTER
16 1045 | B8R4%E | WK-1 R 248 500m | AfIi~2f+3[BT REEA  IUIRKIS
17 1050 | BR4%E | WK-1 = 34 500m | AfI~2f+3MBT WA MUTRERE

18 1055 | B4 | SLK-1 SRES 200m
19 11:00 | %4 |SLWK-1|  5Res 200m
20 1115 | B8R4E | WC-1 RES 500m
21 1120 | %4 | K-1 SR 500m
22 1125 | BR4E K-1 RES 500m
23 11:30 | %4 | C-1 SR 500m
24 1135 | BR4E C-1 SRES 500m
25 11:40 | %% | WK-1 SR 500m
26 1145 | B8RE | WK1 SRES 500m
B K &
27 1240 | dzis K-2 SRES 500m
28 1245 | 8R4E | K2 SR 500m
29 1250 | dzs Cc-2 SRES 500m
30 1255 | g%k | C-2 SR 500m
31 1300 | B=E | WK-2 SRES 500m
32 1305 | BRE | WK-2 | his 500m
33 1335 | %4 K-4 SRES 500m
34 1340 | BR4E | K4 SR 500m
35 1340 | BR4E C-4 RES 500m
36 1340 | BRE | WK-4 | Ris 500m
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